Pattern

CLASSICO

griundl

Brioche Hat and Scarf

Difficulty level:

Q&

Needles:
Hat:

3,6-4,5

Quality:

Classico from Griindl

50 % Virgin Wool (Merino
superwash), 50 % Polyacrylic
50g/120 m

Hat: Scarf:

2x 10 x 1x 1x

Size:

Hat: Head Circumference approx.

54-58cm
Scarf: Width: approx. 30 cm,
Length: approx. 200 cm

Usage:

Hat: approx.100 g in col. 16
(orange)

Scarf: approx. 500 g in col. 15

(mustard), for the fringe: approx.

50 g each in col. 17 (leaf green)
and col. 09 (fuchsia)

Tension:

30 sts and 36 rows to 10 cm over ribbing

22 sts and 48 rows to 10 cm over brioche patt
for the hat

20 sts and 46 rows to 10 cm over brioche patt
for the scarf

Stitch Pattern:

Scarf:

Brioche with double selvedge sts: (amount of sts
multiple of 2 + 1M + 4 selvedge sts)

Row 1(= WS row): 2 selvedge sts, *ki, sllyo, rep
from * and end row with k1, 2 selvedge sts.

Row 2: (= RS row): 2 selvedge sts, * sllyo, brkl, rep
from * and end row with sllyo, 2 selvedge sts.
Row 3: 2 selvedge sts, * brkl, sllyo, rep from *
and end row with brkl, 2 selvedge sts.

These rows establish the pattern. Rep rows 2 -3
throughout.

Double selvedge sts (= 2 selvedge sts):

k2 at beg of row pulling the yarn snug to make
sure the first st isn’t too loose and to create
even sts and sl 2 p-wise wyif at end of row

Hat:

Ribbing: (amount of sts multiple of 2 + 2 selved-
ge sts)

alt k1, pl between the selvedge sts.

Brioche pattern: (amount of sts multiple of 2 + 2
selvedge sts)

Row 1: 1 selvedge st, *kI, sllyo, rep from * to end
then 1selvedge st.

Row 2: 1selvedge st, * brk], sllyo, rep from * to
end then 1selvedge st.

These rows establish the pattern. Repeat row 2
throughout.

Slipped Selvedge Stitches:

At beg of row work first st kitbl and end of row
sll p-wise wyif.
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Instructions:

Hat:

The hat is worked flat in rows.

Cast on 104 sts (including 2 selvedge sts) and
beg with a WS row work 15 cm (= 45 rows) in
ribbing patt. Next row (RS): knit all sts and dec
20 st evenly across row (= after the selvedge st
work every 4th and 5th st as k2tog) (= 84 sts).
Then contin brioche st patt. When work meas
18 cm (= 86 rows) from beg of brioche st, finish
the hat in rib patt and make decs as follows:
Place markers at the 8th st (including the sel-
vedge st in the count) and at every foll 14th st.
Then work the st before the marker the mar-
ked st and the st after the marker as p3tog (=
72 sts). Cont these decs over the markers once
after 4 rows and then in every foll alt row 3
times, working the decs into the

established patt as either k3tog or p3tog

(= 24 sts). Next row (RS): k2tog to end of row
(=12 sts). Cut yarn with tail and thread through
the rem 12 sts. Pull gently to close the top

of the hat. Use the mattress st for the back
seam. To do so, place the edges to be joined
together flat next to each other with the right
sides facing. Use a blunt needle and alt sts
between pieces inserting the needle under the
horizontal bar between the selvedge st and
the 2nd st. Then into the corresponding bar on
the other piece. Cont alt from side to side and
after a few cm of work, tug the thread firmly
to close the seam but be careful not to make
the seam too tight. The selvedge sts disap-
pear to the inside and you will have a clean,
almost invisible seam. Make sure to make the
seam along the bottom cuff of the hat on the
outside. Fold cuff back twice and if needed
make a few sts to attach cuff the the back
seam. Weave in ends.

Scarf:

Cast on 63 sts (including 4 selvedge sts) and
beg with a WS row work for 200 cm in brioche
patt with double selvedge sts ending with a
WS row. Next row: cast off all sts even working
the selvedge sts as k2tog and brkl the sllyo
and purl the p sts. Knot fringe in fuchsia onto
one end of the shawl and in leaf green on the
other end. For each bundle of fringe cut 10
lengths of yarn 40 cm long, fold in half and
knot onto cast-on (or cast-off) edge.

Abbreviations:

alt = alternate(ing)

approx. = approximate(ly)

beg = begin(ning)

brk = knit the stitch that was slipped the prev
row tog with it’s yo

col = colour(s)

cont = continue (continuously)
foll = follow(s)/ following

k = knit

meas = measure(d)

patt = pattern

p = purl

p-wise = purl wise

rep = repeat

rev = reverse

rnd(s) = round(s)

RS = right side

sl =slip

st(s) = stitch(es)

sllyo (= sl p-wise with yo)

tog = together

wyif = with yarn in front of work
WS = wrong side

yo(s) = yarn over (needle)/ yarn round needle
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